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Q1

Answer:

(i) Length =24.5m
Breadth =18 m

~ Area of the rectangle = Length x Breadth
=245m x 18m
= 441 m?

(il Length =12.5m
Breadth=8dm=(8 x 10)=80cm=0.8m [since 1dm=10cmand 1 m =100 cm]

~ Area of the rectangle = Length x Breadth

=125m x 08 m
=10 m?2

Q2
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Answer :

We know that all the angles of a rectangle are 90° and the diagonal divides the rectangle into two right
angled triangles.

So, 48 m will be one side of the triangle and the diagonal, which is 50 m, will be the hypotenuse.
According to the Pythagoras theorem:

(Hypotenuse)? = (Base)? + (Perpendicular)?

2
Perpendicular = ‘/ (Hypotenuse)® — (Base)

Perpendicular = 1/ (50) — (48)% = /2500 — 2304 = /196 = 14 m
~ Other side of the rectangular plot = 14 m

Length = 48m

Breadth = 14m

- Area of the rectangular plot = 48 m x 14 m = 672 m?
Hence, the area of a rectangular plot is 672 m2.

Q3

Answer:

Let the length of the field be 4x m.

Breadth = 3x m

= Area of the field = (4x x 3x) m2=12x2 m?
But it is given that the area is 1728 m2.
~12x2=1728

2 (128 _
:'x_(lz) 144

= x=+/144=12
~Length={4 x12)m=48m
Breadth = (3 x 12) m=36m
~ Perimeter of the field = 2(/ + b) units
=2(48+36)m=(2 x B4)m=168m
~ Cost of fencing = Rs (168 x 30) = Rs 5040
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Q5

Answer:

Given:

Length of the verandah = 40 m = 400 dm  [since 1 m =10 dm ]
Breadth of the verandah = 15 m = 150 dm

= Area of the verandah= (400 x 150) dm? = 60000 dm?

Length of a stone =6 dm
Breadth of a stone = 5 dm
~ Area of a stone = (6 x 5) dm? = 30 dm?

Arca of the wverandah

~ Total number of stones needed to pave the verandah = Aron of each stone

_ [ GOOD0 Y _
o (T) = 2000

Q6

Answer :

Area of the carpet = Area of the room
=(13m x 9m) =117 m?

Now, width of the carpet =75 cm  (given)
=0.75m [since 1 m = 100 cm]

Length of the carpet = (?J:“fd?h u:f tll]; L tt) = (%) m=156 m

Rate of carpeting = Rs 105 per m
~ Total cost of carpeting = Rs (156 x105) = Rs 16380
Hence, the total cost of carpeting the room is Rs 16380.

Q7
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Answer:

Given:

Length of the room=15m

Width of the carpet=75cm =075 m (since 1 m =100 cm)

Let the length of the carpet required for carpeting the room be x m.
Cost of the carpet = Rs. 80 perm

~ Cost of x m carpet = Rs. (80 x x) = Rs. (80x)

Cost of carpeting the room = Rs. 19200

~ 80x=19200 = x = (%) = 240

Thus, the length of the carpet required for carpeting the room is 240 m.

Area of the carpet required for carpeting the room = Length of the carpet x Width of the carpet
= (240 x 0.75) m? =180 m?

Let the width of the room be b m.

Area to be carpeted =15 m x b m = 15b m?

=150 m? =180 m2

180 _
= b= (15)m—12m

Hence, the width of the room is 12 m.

Q8

Answer:

Total cost of fencing a rectangular piece = Rs. 9600
Rate of fencing = Rs. 24

~ Perimeter of the rectangular field = (Tﬂm cost_of_fenci E) m= (ﬂ

Bate of fencing 24
Let the length and breadth of the rectangular field be 5x and 3x, respectively.
Perimeter of the rectangular land = 2(5x + 3x) = 16X

But the perimeter of the given field is 400 m.

=~ 16x = 400

_ [ 400
o= () <25

Length of the field = (2 = 23) m=125m
Breadth ofthe field = (3 X 25)m=75m

)m:4DDm
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Q9
Answer:
Length of the diagonal of the room = /12 + b® + h?
= \/(10)® + (10 + (5)° m
= /100 + 100 + 25m
= 4/225m=15m

Hence, length of the largest pole that can be placed in the given hall is 15 m.

Q10

Answer:

Side of the square =8.5m

= Area of the square = (Side)?
= (8.5 m)?
=7225m?

Q11

Answer :
(i) Diagonal of the square = 72 cm
= Area of the square = [% % {Diagunal]z] 5q. unit
_ |1 2
= [E x (72) ] cm?
= 2592 cm?

(iifDiagonal of the square =2.4 m
= Area of the square = [% X {Diagunal]z] 5q. unit
_ |1 2 )
= [E x (2.4) ] m
=2.88 m?
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Q12

Answer:

We know:

Area of a square = {% P (Diagonal]z} 5q. units

Diagonal of the square = 1,'/2 % Area of square units

= (v2 x 16200)m = 180 m

= Length of the diagonal of the square = 180 m

Q13

Answer :

Area of the square = {% P (Diagﬁnal]z} 5q. units

Given:
Area of the square field = % hectare

= (% X ID[I[}[I) m2 = 5000 m? [since 1 hectare = 10000 m? ]

Diagonal of the square = 1‘/2 x Area of the square

= (v/2 % 5000)m = 100 m

~ Length of the diagonal of the square field = 100 m

https://www.youtube.com/embed/9Zt0IK7Jmk8?feature=0embedQ14Q15Q16Q17Q18Q
19Q20
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Name Figure Perimeter Area
Rectangle b 2(a+b) ab
a
a
a
a [ 1= 1 xhxh
Triangle a+bh+c=2s 2
b 2%-4:.-.1“:.-1‘:11:.- ch
o d ;
Right triangle h b+h+d 5 Bh
b
1. 5 ah
Equilateral a a
triangle da
B g
" 4
Isosceles right a| Nd 1.
a
a
Parallelogram 2{a+b) ah
bfih b
ul
a
a
Rhombus a ’4 a da % d.d,
a
b
- i! Sum of its 1k
Trapezium Z h gt 5 {a+b)
a
Circle 2nr -
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Q1

Answer:

Let PQRS be the given grassy plot and ABCD be the inside boundary of the path.

r

Length =75 m

Breadth = 60 m

Area of the plot = (75 x 60) m? = 4500 m?

Width of the path =2 m

ZAB=(75-2x2)m=(75-4)m=71m

AD=(60-2 x2)m=(60-4)m=56m

Area of rectangle ABCD = (71 x 56) m? = 3976 m2

Area of the path = (Area of PQRS - Area of ABCD)
= (4500 - 3976) m? = 524 m2

Rate of constructing the path = Rs 125 per m?

- Total cost of constructing the path = Rs (524 x 125) = Rs 65,500

Q2
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Answer :

Let PQRS be the given rectangular plot and ABCD be the inside boundary of the path.

5 35 m R
E
[
P a
Length = 95 m

Breadth =72 m
Area of the plot = (95 x 72) m? = 6,840 m2
Width of the path = 3.5 m
~AB=(95-2x35m=(95-7)m=88m
AD=(72-2x35)m=(72-7)m=65m

Area of the path = (Area PQRS - Area ABCD)
= (6840 - 5720) m? = 1,120 m?

Rate of constructing the path = Rs. 80 per m?

~. Total cost of constructing the path = Rs. (1,120 x 80) = Rs. 89,600

Rate of laying the grass on the plot ABCD = Rs. 40 per m2

~. Total cost of laying the grass on the plot = Rs. (5,720 x 40) = Rs. 2,28,800

~. Total expenses involved = Rs. ( 89,600 + 2,28 800) = Rs. 3,18,400

Q3
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Answer:

Let ABCD be the saree and EFGH be the part of saree without border.

Length, AB=5m
Breadth, BC = 1.3 m
Width of the border of the saree = 25 cm = 0.25 m

Em
B c

1.3 m
13 m

~Areaof ABCD=5m x 1.3 m=65m?

Length, GH={5-(025+025)m=45m
Breadth, FG={13-025+025m=08m
~Areaof EFGH=45m x 8m=36m?

Area of ABCD — Area of EFGH

6.5m? -3.6m?
=2.9m2=29000 cm? [since 1 m?2 = 10000 cm?

Area of the border

Rate of printing the border = Rs 1 per 10 cm?

= Total cost of printing the border = Rs ("‘21’;““")
= Rs 2900
Q4
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Answer:

Length, EF =38 m
Breadth. FG =25 m
D

-------------------------

R
R

.........................
.

~ Area of EFGH=38m x 25 m =950 m?

Length, AB=(38 +25 +25)m=43m
Breadth, BC=(25+25+25)m=30m
- Area of ABCD =43 m x 30 m = 1290 m?

Area of the path = Area of ABCD - Area of PQRS
= 1290 m? - 950 m?
=340 m?

Rate of gravelling the path = Rs 120 per m2

- Total cost of gravelling the path = Rs (120 x 340)
= Rs 40800

Q5
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Answer :

Let EFGH denote the floor of the room.
The white region represents the floor of the 1.25 m verandah.

Length, EF =9.5m
Breadth, FG=6m

~Area of EFGH=95m X 6 m=57 m2

Length, AB=(95 +125 +125)m=12m
Breadth, BC=(6+1.25+125)m=85m
~ Area of ABCD =12 m x 8.5 m = 102 m2

Area of the verandah = Area of ABCD - Area of EFGH
=102 m?- 57 m?
=45 m?

Rate of cementing the verandah = Rs 80 per m?

= Total cost of cementing the verandah = Rs ( 80 x 45)
= Rs 3600

Q6
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Answer :

Side of the flowerbed =2 m80cm =280 m  [since 100 cm =1 m]

2mB0 cm

Square Flower

w3 ge

~ Area of the square flower bed = (Side)2=(2.80 m )2 =7.84 m2

Side of the flower bed with the digging strip = 2.80 m + 30 cm + 30 cm
=(2.80+03+03)m=34m

Area of the enlarged flower bed with the digging strip = (Side )2 = (3.4 )2 =11.56 m2

~ Increase in the area of the flower bed = 11.56 m2 — 7.84 m2
=372 m?

Q7
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Answer :

Let the length and the breadth of the park be 2x m and x m, respectively.
Perimeter of the park = 2(2x + x) = 240 m

= 2(2x + x) = 240

= 6x = 240

= x= (2;1[:)".' =40'm

~ Length ofthe park = 2x = (2 x 40) =80 m
Breadith =x =40 m
Let PQRS be the given park and ABCD be the inside boundary of the path.

w ot

P

Length = 80 m
Breadth = 40 m
Area of the park = (80 x 40) m? = 3200 m?
Width of the path =2 m
~AB=(80-2x2)m=(80-4)m=76m
AD=(40-2 x2)m=(40-4)m=36m
Area of the rectangle ABCD = (76 % 36) m? = 2736 m?
Area of the path = (Area of PQRS - Area of ABCD)
= (3200 - 2736) m? = 464 m?
Rate of paving the path = Rs. 80 per m2
- Total cost of paving the path = Rs. (464 x 80) = Rs. 37,120

Q8
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Answer:

Length of the hall, PQ =22 m
Breadth of the hall, QR =155 m

5 22 m

wesk

P Q
= Area of the school hall PQRS =22 m x 155 m = 341 m?
Length of the carpet, AB=22m - (0.75m+075m)=205m
Breadth of the carpet, BC=155m - (075 m+ 075 m)=14 m
~ Area of the carpet ABCD =205 m x 14 m = 287 m2
Area of the strip = Area of the school hall (PQRS) - Area of the carpet (ABCD)
= 341 m? - 287 m?
= 54 m?

[since 100 cm = 1 m]

Area of 1 m length of the carpet =1 m x 0.82 m = 0.82 m?

~ Length of the carpet whose area is 287 m?= 287 m2+< 0.82 m?=350 m
Cost of the 350 m long carpet = Rs 60 x 350 = Rs 21000

Q9
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Answer:

Let ABCD be the square lawn and PQRS be the outer boundary of the square path.

S R
D (¥
2.5m 1 Il 2.5 m
A xm B
P Q

Let a side of the lawn (AB) be x m.

Area of the square lawn = x2

Length, PQ=(xm+25m+25m)=(x+5)m
=~ Area of PQRS = (x + 5)2 = (x2 + 10x + 25) m?

Area of the path = Area of PQRS - Area of the square lawn (ABCD)
= 165 =x2 + 10x + 25 — x2
= 165 = 10x + 25
= 165 - 25 = 10x
= 140 = 10x
x=140 = 10=14
= Side of the lawn = 14 m

~ Area of the lawn = (Side)? = (14 m)? = 196 m?

Q10
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Answer :

Area of the path = 305 m2

P Q
Let the length of the park be 5x m and the breadth of the park be 2x m.

=~ Area of the rectangular park = 5x % 2x = 10x° m?

Width of the path =2.5 m

Outer length, PO =5xm+25m+25m=(5x+3)m

Quter breadth, QR=2x+25m+25m =(2x +5)m

Area of PQRS = (5x +5) X (2x +5) = (10x¢ + 25x + 10x + 25) = (10x2 + 35x + 25) m?
~ Area of the path = [(10xZ + 35x + 25) — 10x% ] m?

= 305=35x+25

= 305 - 25 = 35x

= 280 = 35x

=x=280+35=8

~Lengthofthe park=5x=5x 8=40m
Breadth of the park=2x=2 X 8=16m

Q11
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Answer:

Let ABCD be the rectangular park.
Let EFGH and /JKL be the two rectangular roads with width 5 m.

< 70 m >
1 L
A D A
’ M| |p Pl
- N[O G
Y
B % C

Length of the rectangular park, AD =70 m
Breadth of the rectangular park, CD =50 m
- Area of the rectangular park = Length x Breadth =70 m x 50 m = 3500 m?
Area of road EFGH=70m x 5m = 350 m?
Area of road IJKL =50 m x 5 m =250 m?

Clearly, area of MNOP is common to both the two roads.

= Area of MNOP=5m x 5m=25m?2

Area of the roads = Area (EFGH) + Area (IJKL) - Area (MNOP)
= (350 +250)m?-25m? =575 m2

It is given that the cost of constructing the roads is Rs. 120/m2.

Cost of constructing 575 m? area of the roads = Rs. (120 x 575)
= Rs. 69000

Q12
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Answer :

Let ABCD be the rectangular field and PQRS and KLMN be the two rectangular roads with width 2 m
and 2.5 m, respectively.

De 115 m if
M
p 3
[%.]
3
E F
s IR
2m 64 m
Q
P H G
A K B

Length of the rectangular field, CD =115 cm

Breadth of the rectangular field, BC = 64 m

~ Area of the rectangular lawn ABCD = 115 m x 64 m = 7360 m2
Area of the road PQRS =115m x 2 m =230 m2

Area of the road KLMN =64 m x 2.5 m = 160 m?

Clearly, the area of EFGH is common to both the two roads.

~Area of EFGH=2m x 25m=5m?2

= Area of the roads = Area (KLMN) + Area (PQRS) - Area (EFGH)
= (230 m? + 160 m2) - 5 m? = 385 m?

Rate of gravelling the roads = Rs 60 per m?
= Total cost of gravelling the roads = Rs (385 X 60)
=Rs 23,100

Q13
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Answer:

Let ABCD be the rectangular field and KLMN and PQRS be the two rectangular roads with width 2.5
m and 2 m, respectively.

D« e ,C
L M
p -
(4,1
3
E F
s IR
2m n“m
| H G
*
A . B

Length of the rectangular field CD = 50 cm

Breadth of the rectangular field BC =40 m

~ Area of the rectangular field ABCD =50 m x 40 m = 2000 m2
Area of road KLMN =40 m x 2.5 m = 100 m?

Area of road PQRS =50 m x 2 m = 100 m?

Clearly, area of EFGH is common to both the two roads.
~Area of EFGH=25m x 2m=5m?

~ Area of the roads = Area (KLMN) + Area (PQRS) — Area (EFGH)
= (100 m? + 100 m?) - 5 m? = 195 m2

Area of the remaining portion of the field = Area of the rectangular field (ABCD) - Area of the roads
= (2000 - 195) m?2
= 1805 m?

Q14
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Answer :

(i) Complete the rectangle as shown below:

A
E fTm F T

g
i

27 m

||

D fe—— 43— €

Area of the shaded region = [Area of rectangle ABCD - Area of rectangle EFGH] sq. units
[([43m x 27 m)-{(43-2 x 1.5)mx(27-1 x 2) m}]

(43 m x 27 m) - {40 m x 25 m}]

161 m2 - 1000 m?2

61 m?

1.5m

1
1

(i) Complete the rectangle as shown below:

A E H B
ry
M N
g 1 J
= I3r1'|
L = K
pzﬂ
Y c
D F ¢

j— 40 m ————

Area of the shaded region = [Area of square ABCD - {(Area of EFGH) + (Area of IJKL) - (Area of

MNOP)}] sq. units
=[(40 x 40) - {(40 x 2) + (40 x 3) - (2 x 3)}] m2
=[1600 - {(80 + 120 - 6)] m?
=[1600 - 194] m2
= 1406 m?2
Q15
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Answer :

(i) Complete the rectangle as shown below:

(B 24m |
B
E F T
T 19m
16.5m
l e |d
D f—]
4m
Area of the shaded region = [Area of rectangle ABCD - Area of rectangle EFGD] s5q. units

[(AB x BC) - (DG x GF)] m2

[(24d mx19m)-{(24-4)m x 16.5m} ]
I

(

24 mx19m)- (20 m x 16.5) m]
456 - 330) m? = 126 m2

(i) Complete the rectangle by drawing lines as shown below:

bt— | 2 CIMl—|
C D

3 cm Jcm

|

5Cm

3 cm

3 cm 3Icm

}H— 15 cm ——mf

le— |2 cm —m|

Area of the shaded region ={(12 x 3) + (12 % 3) + (5% 3) +{(15- 3 - 3) x3)} cm?
={36 + 36 + 15 + 27} cm?
=114 cm?

Q16
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Divide the given figure in four parts shown below:

05m| W 0.5m
0.5m mn 0.5m
05 m - 0.5m
osm[ |_ ------ 0.5m
35m

Given:
Width of each part=0.5m

Now, we have to find the length of each part.

Length of part1 =3.5m
Length of part 1l = (3.5-0.5-0.5)m=2.5m

Length of part Il = (2.5-0.5- 0.5) = 1.5 m

Length of part IV = (1.5-0.5-0.5)=0.5m

= Area of the shaded region = [Area of part (1) + Area of part (1) + Area of part (lll) + Area of part

(IV)] sq. units

[(3.5 X 0.5)+ (2.5 x 0.5) + (1.5 % 0.5) + (0.5 x 0.5)] m?
=[1.75 +1.25 + 0.75 + 0.25] m2
=4 m2

Exercise 20C
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Name Figure Perimeter Area
Rectangle b 2(a+b) ab
a
a
a
a [ 1= 1 xhxh
Triangle a+bh+c=2s 2
b 2%-4:.-.1“:.-1‘:11:.- ch
o d ;
Right triangle h b+h+d 5 Bh
b
1. 5 ah
Equilateral a a
triangle da
B g
" 4
Isosceles right a| Nd 1.
a
a
Parallelogram 2{a+b) ah
bfih b
ul
a
a
Rhombus a ’4 a da % d.d,
a
b
- i! Sum of its 1k
Trapezium Z h gt 5 {a+b)
a
Circle 2nr -

Semicircle
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Q1

Answer:

Base =32 cm
Height =16.5 cm

=~ Area of the parallelogram = Base x Height
32 cm x 16.5 cm
528 cm2

Exercise 20D
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Name Figure Perimeter Area
Rectangle b 2(a+b) ab
a
a
a
a [ 1= 1 xhxh
Triangle a+bh+c=2s 2
b 2%-4:.-.1“:.-1‘:11:.- ch
o d ;
Right triangle h b+h+d 5 Bh
b
1. 5 ah
Equilateral a a
triangle da
B g
" 4
Isosceles right a| Nd 1.
a
a
Parallelogram 2{a+b) ah
bfih b
ul
a
a
Rhombus a ’4 a da % d.d,
a
b
- i! Sum of its 1k
Trapezium Z h gt 5 {a+b)
a
Circle 2nr -

Semicircle
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Q1

Answer:

We know:
Area of a triangle = % » Base x Height

(i) Base = 42 cm
Height = 25 cm

~ Area of the triangle = (% % 42 % 25) cm? = 525 cm?
(iiy Base =16.8 m

Height =75 cm=075m [since 100 cm =1 m]

~ Area of the triangle = (% % 16.8 x D.TE) m?=6.3 m?

(iii) Base =8 dm = (8 x 10)cm=80cm [since 1 dm = 10 cm]
Height = 35 cm

~ Area of the triangle = (% % 80 x 35) cm? = 1400 cm?

Exercise 20E

Area of a circle
= 11 X radius?

& Circumference of a
2 : _ .
> circle = 11 X diameter

remember that the
diameter = 2 x radius

https://www.youtube.com/embed/O-cawByg2aA?feature=oembed
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Q1

Answer:

Here, r=15cm
=~ Circumference = 2T
=(2 x 314 x 15)cm
=942 cm
Hence, the circumference of the given circle is 94.2 cm

Q2

Answer :

(i) Here, r = 28 cm
=~ Circumference = 2m r

= (2 ¥ 2—.? ¥ ﬂﬁ)cm
= 176 cm
Hence, the circumference of the given circle is 176 cm.

(iiyHere, r=1.4m
= Circumference = 21 r

= (2 * 2—.? * 1.4) m
= (2x22x0.2)m=88m
Hence, the circumference of the given circle is 8.8 m.

Q3
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Answer:

(i) Here, d =35 cm
Circumference = 21 r
(wd) [since 2r =d]
(% x35) cm = (22 X 5) = 110 cm

Hence, the circumference of the given circle is 110 cm.

(ii) Here, d=4.9m
Circumference =2m r
= (wd) [since 2r = q]
= (% ><4.9) m=(22 x 0.7)=15.4m

Hence, the circumference of the given circle is 15.4 m.

Q4

Answer :

Circumference of the given circle = 57.2 cm

~C=572cm
Let the radius of the gi‘u’Eﬂ circle be rcm.
C=2nar

_C
== T cm

_ | 57.2 7
ZQF—(szz)Cm 9.1 cm

Thus, radius of the given circle is 9.1 cm.

Q5
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Answer .

Circumference of the given circle =63.8 m
~C=638m

Let the radius of the given circle be rcm.
C=2ar

::.r:E

_ | 63.8 7 _
== (T > E)m =1015m

= Diameter of the given circle =2r=(2 X 10.15) m =203 m

Answer :

Let the inner and outer radii of the track be r metres and R metres, respectively.

Then, 27T = 528
2rR =616
:2x2—.f X =528
2x Z x R=616
- (528 x ) =84
- (616 x 5 ) =98

=(R-rN=(98-84)m=14m
Hence, the width of the track is 14 m.

Q10
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Answer :

Let the inner and outer radii of the track be r metres and (r + 10.5) metres, respectively.

Inner circumference = 330 m

.-.2::1T=33D:92x2—?,2 x =330
. (EBDxﬁ) _52.5m

Inner radius of the track =525 m
~ Outer radii of the track = (52.5 +10.5) m=63 m

~ Circumference of the outer circle = (2 * 2—3 Y 63) m = 396 m

Rate of fencing = Rs. 20 per metre
~ Total cost of fencing the outer circle = Rs. (396 = 20) = Rs. 7920

Qn
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Answer :

We know that the concentric circles are circles that form within each other, around a common centre
point.

Radius of the inner circle, r= 98 cm

- Circumference of the inner circle = 2t

= (2><2—.r2 XQS) cm =616 cm

Radius of the outer circle, R=1m 26 cm =126 cm [since 1 m =100 cm]
» Circumference of the outer circle = 2wR.

:(2x2—3x126) cm =792 cm

= Difference in the lengths of the circumference of the circles = (792 - 616) cm = 176 cm
Hence, the circumference of the second circle is 176 cm larger than that of the first circle.

Q12

Answer:

Length of the wire = Perimeter of the equilateral triangle

= 3 x Side of the equilateral triangle = (3 X 8.8) cm = 26.4 cm
Let the wire be bent into the form of a circle of radius r cm.
Circumference of the circle = 26.4 cm

= 291 = 26.4
:aﬂxz—.f xr=26.4
=r= (%) cm=4.2cm

~ Diameter =2r=(2 x 4.2) cm = 8.4 cm
Hence, the diameter of the ring is 8.4 cm.

Q13
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Answer:

Circumference of the circle = Perimeter of the rhombus
=4 x Side of the rhombus = (4 x 33)cm =132 cm

~ Circumference of the circle =132 cm

= 2qr =132
=>2x2—.f><r=132

_ [ 132xT -
=r= ( T3 )cm 21cm

Hence, the radius of the circle is 21 cm.

Q14

Answer:

Length of the wire = Perimeter of the rectangle
=2(/+b)=2 x(18.7 + 14.3) cm = 66 cm

Let the wire be bent into the form of a circle of radius rcm.

Circumference of the circle = 66 cm

= 2t = 66
= (2)(2—.? xr):ﬁﬁ
== (g?(;;) cm =105 cm

Hence, the radius of the circle formed is 10.5 cm.

Q15
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Answer :

It is given that the radius of the circle is 35 cm.
Length of the wire = Circumference of the circle

= Circumference of the circle = 2aT = (2 w 2—3 * 35) cm = 220 cm

Let the wire be bent into the form of a square of side a cm.
Perimeter of the square = 220 cm

= 4a =220
—a= (ziu)cm 55 cm

Hence, each side of the square will be 55 cm.

Q16

Answer :

Length of the hour hand (r)= 4.2 cm.
Distance covered by the hour hand in 12 hours = 27T = (2 * 2—.? e 4.2) cm =26.4 cm

~ Distance covered by the hour hand in 24 hours = (2 = 26.4) = 52.8 cm
Length of the minute hand (R)= 7 cm

Distance covered by the minute hand in 1 hour = 2nR = (2 *® 2—.? * ?) cm = 44 cm

~ Distance covered by the minute hand in 24 hours = (44 x 24) cm = 1056 cm

~ 3Sum of the distances covered by the tips of both the hands in 1 day = (52.8 + 1056) cm
=1108.8 cm

Q17
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Answer:

Given:
Diameter of the well (d) =140 cm.

Radius of the well (r) = (1‘:’ )cm 70 cm

Let the radius of the outer circle (including the stone parapet) be R cm.
Length of the outer edge of the parapet = 616 cm

= 27R = 616
= (2x2Z xR) =616
= R= (521:;27) cm =98 cm

Now, width of the parapet = {Radius of the outer circle (including the stone parapet) - Radius of the
well}

= {98 -70} cm = 28 cm
Hence, the width of the parapet is 28 cm.

Q18
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Answer:

It may be noted that in one rotation, the bus covers a distance equal to the circumference of the wheel.
Now, diameter of the wheel = 98 cm
= Circumference of the wheel = wd = (— * QS) cm = 308 cm

Thus, the bus travels 308 cm in one rotation.

~ Distance covered by the bus in 2000 rotations = (308 = 2000) cm
= 616000 cm
=6160 m [since 1 m =100 cm)]

Q19

Answer :

It may be noted that in one revolution, the cycle covers a distance equal to the circumference of the
wheel.
Diameter of the wheel =70 cm

. Circumference of the wheel = rd = (— b TD) cm = 220 cm

Thus, the cycle covers 220 cm in one revolution.

~ Distance covered by the cycle in 250 revolutions = (220 = 250) cm
= 55000 cm

=550 m [since 1 m =100 cm]

Hence, the cycle will cover 550 m in 250 revolutions.

Q20
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Answer .

Diameter of the wheel = 77 cm

= Radius of the wheel = (7—27) cm

Circumference of the wheel = 27T
= (Exg x%)cmzizz % 11) cm = 242 cm

i
_ | 242 _ [ 121
- (8)m= (&)
Distance covered by the wheel in 1 revolution = (%) m

Now, (%) m is covered by the car in 1 revolution.

(121 x 1000) m will be covered by the car in (1 * % x 121 x lﬂ(}l]) revolutions, i.e. 50000

revolutions.
- Required number of revolutions = 50000

Q21

ANsWer:

It may be noted that in one revolution, the bicycle covers a distance equal to the circumference of the
wheel.
Total distance covered by the bicycle in 5000 revolutions = 11 km

= 5000 x Circumference of the wheel = 11000 m [since 1 km = 1000 m]
Circumference of the wheel = (%) m=22m=220cm [since 1 m =100 cm]

Circumference of the wheel = w » Diameter of the wheel

= 220 cm = 2—?2 » Diameter of the wheel

= Diameter of the wheel = (%) cm=70cm

Hence, the circumference of the wheel is 220 cm and its diameter is 70 cm.

Exercise 20F
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Area of a circle
= 11 x radius?

& Circumference of a
Y : — .
> circle = 11 X diameter

remember that the
diameter = 2 x radius

https://www.youtube.com/embed/O-cawByg2aA?feature=oembed

Q1

Answer:
(i) Given:

r=21cm

« Area of the circle = (aT?) sq. units

= (2—1;? x 21 x 21) cm? = (22 x 3 x 21) cm? = 1386 cm?

(ii) Given:
r=35m

Area of the circle = (aT?) sq. units

= (Z—f x3.5x3.5) m?=(22x 0.5 x 3.5) m? =385 m?
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Q2

Answer:

(i) Given:

d=28cm=r= (g)=(2—;) cm =14 cm

Area of the circle = (ar?) sq. units
= (2—?2 % 14 x 14) cm? = (22 x 2 x 14) cm? = 616 cm?

(ii) Given:

_ _fdYy _ {14 _
r=14m=r= (E)—(T)m—ﬂ_?m

Area of the circle = (a1?) sq. units

= (2—,'? x[l.?xﬂ.?) m2=(22 x 0.1 x0.7) m2=1.54 m?

Q3

Answer:

Let the radius of the circle be r cm.
Circumference = (2nt)cm

~ (2nr) = 264

= (2% 2 xr) = 264

7

— [ 264xT ) _
:br—(m)—dz

=~ Area of the circle = rr
= (2—,‘;‘3 % 49 % 42) cm?
= 5544 cm?

2

Q4
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Answer:

Let the radius of the circle be rm.
Then, its circumference will be (2ar)m.
« (2mr) =352

= (2:&2—; xr)=35.2

_ 35.2=T Y _
== (ﬁ) =56
=~ Area of the circle = ot
= (% x 5.6 x 5.6) m? = 98 56 m?

2

Q5

Answer :

Let the radius of the circle be r cm.
Then, its area will be w2 cm?2.
7T = 616

= (2—?2 xrxr):515

=r?= (&2;7) =196
196 = 14

= Circumference of the circle = (2at) cm
= (ixz—f x14) cm = 88 cm

Q6
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Answer :

Let the radius of the circle be rm.
Then, area = ar>
=~ 1’ = 1386

= (% xrx—r) = 1386
== (%) = 441

= r=+/441 =21

= Circumference of the circle = (2ar) m
= (Exz—.f xﬂl)m:132m

m2

Q7

Answer :

Let ry and r, be the radii of the two given circles and A4 and A, be their respective areas.

(511

m
T

A rr () (1) e
"Ag_qrriz_rg!_ T s T 25

Hence, the ratio of the areas of the given circles is 16:25.

Q8

Answer:

If the horse is tied to a pole, then the pole will be the central point and the area over which the horse will

graze will be a circle. The string by which the horse is tied will be the radius of the circle.
Thus,

Radius of the circle (r) = Length of the string =21 m

Now, area of the circle = aT2 = (2—?2 x 21 x 21) m2 = 1386 m?

= Required area = 1386 m?
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Q9

Answer :

Let a be one side of the square.
Area of the square = 121 cm? (given)

= a’ =121

=a=1com (since 11 x11=121)
Perimeter of the square =4 xside=4a=(4 x11)cm =44 cm
Length of the wire = Perimeter of the square

=44 cm

The wire is bent in the form of a circle.
Circumference of a circle = Length of the wire
~ Circumference of a circle = 44 cm

= 2ar =44
= (2x2—.fxr)=44
:r:(‘;‘;}g):?cm

- Area of the circle = wr2
= (2—,‘? ® T x T) cm2

=154 cm?

Q10
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Answer:

It is given that the radius of the circle is 28 cm.

Length of the wire = Circumference of the circle

= Circumference of the circle = 2T = (2 ¥ == 28) cm =176 cm

Let the wire be bent into the form of a square of side a cm.

Perimeter of the square = 176 cm

= 4a=176
=a-= (T‘)cm 44 cm

Thus, each side of the square is 44 cm.

Area of the square = (Side)? = (a)? = (44 cm)?
= 1936 cm?
=~ Required area of the square formed = 1936 cm?

Q11

Answer :

Area of the acrylic sheet = 34 cm x 24 cm = 816 cm?
Given that the diameter of a circular button is 3.5 cm.

- Radius of the circular button (r)= (325) cm = 1.75cm
=~ Area of 1 circular button = 'ﬂTZ
- (2—?2 % 1.75 x 1.?5) cm?

= 9625 cm?
~ Area of 64 such buttons = (64 x 9.625) cm? =616 cm?2
Area of the remaining acrylic sheet = (Area of the acrylic sheet - Area of 64 circular buttons)
= (816 - 616) cm? = 200 cm?

Q12
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Answer:

Area of the rectangular ground =90 m x 32 m = (90 x 32) m? = 2880 m?
Given:
Radius of the circular tank (r) =14 m

= Area covered by the circular tank = wr? = (2—?2 ® 14 x 14) m?

=616 m?

~ Remaining portion of the rectangular ground for turfing = (Area of the rectangular ground - Area
covered by the circular tank)
= (2880 - 616) m? = 2264 m?
Rate of turfing = Rs 50 per sg. metre
~ Total cost of turfing the remaining ground = Rs (50 x 2264) =Rs 1,13,200

Q13

Answer:

Area of each of the four quadrants is equal to each other with radius 7 cm.

Area of the square ABCD = (Side)? = (14 cm)2 = 196 cm?
Sum of the areas of the four quadrants = (4 * % x % ®Tx T) cm?

=154 cm?

~ Area of the shaded portion = Area of square ABCD - Areas of the four quadrants
= (196 - 154) cm?
=42 cm?

Q14
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Answer:

Let ABCD be the rectangular field.

Here, AB=60m
BC=40m

Let the horse be tethered to corner A by a 14 m long rope.

Then, it can graze through a quadrant of a circle of radius 14 m.

~ Required area of the field = (% X 2—?2 x 14 x 14) m? = 154 m?

Hence, horse can graze 154 m? area of the rectangular field.

https://www.youtube.com/embed/m3dwUx5pXj8?feature=oembed

Y,

Area of
Area of Small Circle =
Big Circle = mr?

mR?

-©

Area of Annulus =

nR? — wr?

Q15
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Answer:

Diameter of the big circle = 21 cm

Radius = (221) cm =105 cm

= Area of the bigger circle = ar? = (2—,‘? x 10.5 x 1[}.5) cm?
= 346.5 cm?

Diameter of circle | = 3 of the diameter of the bigger circle

21 ¢cm = (% x?l) cm =14 cm

2
30 of
Radius of circle | (rq) ( ) cm =7 cm

~ Area of circle | = 7T, 2 ( X T ® ?’) cm?
=154 cm?
Diameter of circle Il = 1 of the diameter of the bigger circle

3
21 cm:(%xil) cm=7cm

of
) cm=23.5cm
(E

1
3
Radius of circle Il (rp) = (%

= Area of circle Il = T2 =

= Area of the shaded portion = {Area of the bigger circle - (Sum of the areas of circle | and 117}
={346.5 - (154 + 38.5)} cm?
={346.5 - 192.5} cm?
=154 cm?
Hence, the area of the shaded portion is 154 cm?

Q16
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Let ABCD be the rectangular plot of land that measures 8 m by 6 m.
~ Area of the plot = (8 m x 6 m) = 48 m?

Area of the four flower beds = (4 * % * % ® 2% 2) m = (S__f) m2
2

Area of the circular flower bed in the middle of the plot = @t

Area of the remaining part = {48 - (8—78 + S——f)} m?
_ A6 L 2
Jas— i)

_ {335?1?5 } m2 = (%) m2=22.86 m?2

- Required area of the remaining plot = 22.86 m?

Exercise 20G

Q1
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Answer .

(c) 192 cm?

Let ABCD be the rectangular plot.
Then, AB =16 cm

AC =20 cm
D C
20 em
A 16.em
Let BC =xcm

From right triangle ABC:
AC?=AB?+BC2

= (209 = (16)2 + x2

= x2=(20)2 - (16)% = {400 - 256} = 144

= x=+/144=12
~BC=12cm

~ Area of the plot = (16 x 12) cm? = 192 cm?

Q30
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Answer :

(c) 17.60 m

Let the radius of the circle be r m.
Area = e m?

L T2 = 24 64

= (2—?2 xrxr) =24 64
_ MEd=T Y _

=r2= (T) =7.84

=r=+/7.84=28m

= Circumference of the circle = (2aT) m
= (ixz—.f x2.8) m=17.60 m

Q31

Answer :

(c) 3 cm

Suppose the radius of the original circle is r cm.
Area of the original circle = >

Radius of the circle = (r +1) cm

According to the question:

w(r+1)" =ar? +22

= (r? +1+2r) = mr® + 22

= 712 + 7+ 2ar = v’ +22

=+ 2ar =22 [cancel nr? from both the sides of the equation]

= mw(1+2r) =22
= (1or) =2 = () =7
=2r=7-1=6

-r=(8 =
..r—(z)cm Jcm

= Original radius of the circle = 3 cm
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Q32

Answer:

(c) 1000

Radius of the wheel=1.75m
Circumference of the wheel = 2aT

:(Exz—f xl.?ﬁ)cmzizxzzx[]_zﬁ}mzﬂm

Distance covered by the wheel in 1 revolution is 11 m.
Now, 11 m is covered by the car in 1 revolution.

(11 x 1000) m will be covered by the car in (1 * 1—11 x 11 % l{lﬂﬂ) revolutions, i.e. 1000 revolutions.

~» Required number of revolutions = 1000

_X_
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RS Aggarwal Class 7 Solutions

e Chapter 13—Lines and

e Chapter 1—Integers Angles

e Chapter 2—Fractions e Chapter 14—Properties of

e Chapter 3—Decimals Parallel Lines

e Chapter 4—Rational e Chapter 15—Properties of
Numbers Triangles

e Chapter 5—Exponents e Chapter 16—Congruence

e Chapter 6-Algebraic e Chapter 17—Constructions
Expressions e Chapter 18—Reflection and

e Chapter 7—Linear Rotational Symmetry
Equations in One Variable e Chapter

e Chapter 8—Ratio and 19—Three-Dimensional
Proportion Shapes

e Chapter 9—Unitary e Chapter 20—Mensuration
Method e Chapter 21—Collection and

e Chapter 10—Percentage Organisation of Data

e Chapter 11—Profit and Loss (Mean, Median and Mode)

e Chapter 12—Simple e Chapter 22—Bar Graphs
Interest e Chapter 23—Probability
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About RS Aggarwal Class 7 Book

Investing in an R.S. Aggarwal book will never be of waste since you
can use the book to prepare for various competitive exams as well. RS
Aggarwal is one of the most prominent books with an endless number
of problems. R.S. Aggarwal's book very neatly explains every
derivation, formula, and question in a very consolidated manner. It
has tonnes of examples, practice questions, and solutions even for the
NCERT questions.

He was born on January 2, 1946 in a village of Delhi. He graduated
from Kirori Mal College, University of Delhi. After completing his
M.Sc. in Mathematics in 1969, he joined N.A.S. College, Meerut, as a
lecturer. In 1976, he was awarded a fellowship for 3 years and joined
the University of Delhi for his Ph.D. Thereafter, he was promoted as a
reader in N.A.S. College, Meerut. In 1999, he joined M.M.H. College,
Ghaziabad, as a reader and took voluntary retirement in 2003. He has
authored more than 75 titles ranging from Nursery to M. Sc. He has
also written books for competitive examinations right from the clerical
grade to the I.A.S. level.
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Frequently Asked Questions (FAQSs)

Why must I refer to the RS Aggarwal textbook?

RS Aggarwal is one of the most important reference books for high school grades
and is recommended to every high school student. The book covers every single
topic in detail. It goes in-depth and covers every single aspect of all the
mathematics topics and covers both theory and problem-solving. The book is true
of great help for every high school student. Solving a majority of the questions
from the book can help a lot in understanding topics in detail and in a manner
that is very simple to understand. Hence, as a high school student, you must
definitely dwell your hands on RS Aggarwal!

Why should you refer to RS Aggarwal textbook solutions on
Indcareer?

RS Aggarwal is a book that contains a few of the hardest questions of high school
mathematics. Solving them and teaching students how to solve questions of such
high difficulty is not the job of any neophyte. For solving such difficult questions
and more importantly, teaching the problem-solving methodology to students, an
expert teacher is mandatory!

Does IndCareer cover RS Aggarwal Textbook solutions for Class 6-12?

RS Aggarwal is available for grades 6 to 12 and hence our expert teachers have
formulated detailed solutions for all the questions of each edition of the textbook.
On our website, you'll be able to find solutions to the RS Aggarwal textbook right
from Class 6 to Class 12. You can head to the website and download these
solutions for free. All the solutions are available in PDF format and are free to
download!
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About IndCareer

IndCareer.com is a leading developer of online career guidance resources for the Indian
marketplace. Established in 2007, IndCareer.com is currently used by over thousands of
institutions across India, including schools, employment agencies, libraries, colleges
and universities.

IndCareer.com is designed to assist you in making the right career decision - a decision
that meets your unique interests and personality.

For any clarifications or questions you can write to info@indcareer.com
Postal Address

IndCareer.com

52, Shilpa Nagar,
Somalwada
Nagpur - 440015
Maharashtra, India

WhatsApp: +91 9561 204 888

Website: https://www.indcareer.com
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